



(20) Subtracting Proper Fractions

Name: _____

Date: _____ Score: _____

$$\frac{4}{8} - \frac{2}{6} =$$

$$\frac{7}{3} - \frac{4}{7} =$$

$$\frac{4}{6} - \frac{3}{9} =$$

$$\frac{5}{3} - \frac{5}{6} =$$

$$\frac{5}{6} - \frac{1}{4} =$$

$$\frac{5}{3} - \frac{4}{7} =$$

$$\frac{7}{9} - \frac{5}{8} =$$

$$\frac{7}{6} - \frac{6}{9} =$$

$$\frac{7}{6} - \frac{3}{9} =$$

$$\frac{3}{2} - \frac{5}{4} =$$

$$\frac{5}{3} - \frac{3}{2} =$$

$$\frac{5}{2} - \frac{4}{8} =$$

$$\frac{2}{3} - \frac{2}{4} =$$

$$\frac{6}{8} - \frac{1}{9} =$$

$$\frac{5}{6} - \frac{4}{7} =$$

$$\frac{5}{7} - \frac{2}{5} =$$

$$\frac{5}{6} - \frac{4}{6} =$$

$$\frac{7}{9} - \frac{4}{9} =$$

$$\frac{1}{7} - \frac{1}{8} =$$

$$\frac{4}{5} - \frac{2}{3} =$$



(20) Subtracting Proper Fractions

Name: _____

Date: _____ Score: _____

$$\frac{4}{8} - \frac{2}{6} = \frac{1}{6}$$

$$\frac{7}{3} - \frac{4}{7} = \frac{37}{21} = 1\frac{16}{21}$$

$$\frac{4}{6} - \frac{3}{9} = \frac{1}{3}$$

$$\frac{5}{3} - \frac{5}{6} = \frac{5}{6}$$

$$\frac{5}{6} - \frac{1}{4} = \frac{7}{12}$$

$$\frac{5}{3} - \frac{4}{7} = \frac{23}{21} = 1\frac{2}{21}$$

$$\frac{7}{9} - \frac{5}{8} = \frac{11}{72}$$

$$\frac{7}{6} - \frac{6}{9} = \frac{1}{2}$$

$$\frac{7}{6} - \frac{3}{9} = \frac{5}{6}$$

$$\frac{3}{2} - \frac{5}{4} = \frac{1}{4}$$

$$\frac{5}{3} - \frac{3}{2} = \frac{1}{6}$$

$$\frac{5}{2} - \frac{4}{8} = 2$$

$$\frac{2}{3} - \frac{2}{4} = \frac{1}{6}$$

$$\frac{6}{8} - \frac{1}{9} = \frac{23}{36}$$

$$\frac{5}{6} - \frac{4}{7} = \frac{11}{42}$$

$$\frac{5}{7} - \frac{2}{5} = \frac{11}{35}$$

$$\frac{5}{6} - \frac{4}{6} = \frac{1}{6}$$

$$\frac{7}{9} - \frac{4}{9} = \frac{1}{3}$$

$$\frac{1}{7} - \frac{1}{8} = \frac{1}{56}$$

$$\frac{4}{5} - \frac{2}{3} = \frac{2}{15}$$